o xdHTty

=

2F54 y = —20—49] 17

[e]

r}_~ <t
|

o|l ol
B B
T "
2o~
BB
,_ﬂol -
of of
TE
o oy
o o
.l
-~ R




@ 4 ® 5 @ 7 )10

D 2

x+1+4

B

-——x+9
0:—536-1-5
x =10

y:




O x3H:
@ xd4H:
®xHEH:
@ xHH:

®xZH:

2, ydH: -2
-3, y4dH: -3
4, ydH: 2
-3, y&d®: -1
0,y&dH: 0




4. o5 T xgkol STl wet yghol faste I me) S 5t

of 2t
H7]
@ y=-"x+3 ©y=2x-1
© y=3x ® y=-3x-4
@ y=4x-4 @ y=-x-3
=1 4l

xgkol F7retel met ygho] st I ZE 71271 a <0
°|EZ @, @, @°IH.
- 37




o H7]9] dapghas 5 0 v 0 BF 912 sk Ao A4E
a7ll, M2 A2 EE AvtE Ao A€ p7H=tL & W, a + b o] 727

@ y=3x © y=-3x
1
©y:3x+1 @y:§x+3
1
@y:_§x+3 @y:—4x_3
4
® 7 @ 8 ®9 @ 10 ®)11

st ©2F 92 Fohe AL /12717 F4e RolnE
©.©.©.®. @9 57, a=5

A2 EE A A9 4L ©,0, @ @, ©, @ 674
b=6

WA o + b = 11 0]t}




AR50 T Io} ohe Tt 2
o, 718717 A% e AT}y
Ho 714 2 AL Batat, -

olmz v o] yAso| 74 At




A (0, a), (=3, 0), (b, 3)& A QAT %, y Zo2 Eainl
599] Yol7l 6 2 W, a+ b o L Fotolt (. a»0)

> E:
13

Dﬁﬁ:.z

0-a 3-0
-3-0 b+3
AZYeg o] glojrt 6 o] B2

o|B & g(b+3)=9

1
§><ax3:6('.'a>0)

Ta=4

aw+$=9ﬂﬁa=4q@b:_%

ﬂ%ﬁa+b=?omh




8. (2,-2),(5 4), (a 7) Al Hol 2 A foll A=Fa o] g2

- CIE

> E:

> HE: 13
2

4- (=2

552) 2

(5, 4), (a, 7) B Ath= A4 71=27]=
7-4 3

a—5:a—5

= 3 :20]E§a:1—3°]1’~}




9. ofd x4 2=} (1, 3), (-1, 7), (a, b) 2] Al HE A},
ojul, 4a + 2b ©] %= F-Stoi=t

cCh "
| —

| 2
> Heh: 4a+20=10

B ~

Al Fol g A 9o Jler=
3-7 b-3

1-(-1) a-1

-2(a-1)=b-3

2a+b=5

Sda+2b=212a+b)=2x5=10




10.

DAL S+ 2 =19 THBG} x F y FOB FUA FE
ot AARS T4+ = 19 TREG AH y = ax, x FOE

Sejurel #0] o o] A i W, a | g Tatelet. (Fa>0)

yl\

o] o] 3 o]c.

09y HEE b 2 51, 412 COB 9 Wolt £ xaxb =3,
b =2 o|t},

HCAxABEa TS, S432 =1 AR, S4 7 =1,
a=2o|t},

et A C &y =2x $19] Hol7|E steg
2=2q0°]1, a=1 o]t}




11. A A (@ 3), (4 6). (8, 95 Ake 47} 1%, yZo= SaK<

o] Wolrbbd W, a+ b o] 727

®-6 ©-3 01 @3 )

La=0

w

y=Jx+ 3014 »EHo| ~4yHHo] 30| Yol

1
b=—-—x%x4x%x3
2
. b=6
a+b=06




12.

yl\

N

3__I
DB \(C
=2 0O 2 T
1 3 9
_ E—— — of| &
2x+2 4x+2°1]1
5 5
—_Y — — :1 :2 =
4x 2,5x 0, x ,y=3
HASFE: (2 3)
ABY #FxE: (0,2
HAco =z (6 0)
D9 FE: (-4,0)

AABC = AADC — ABDC

1 1
_(§x10x3>—(§x10x2>

=5




